3apaua B. Paa - 3

[1aHO HaTypanbHOe 4ncno n. HanedyatamTe Bce N-3Ha4YHble HEYETHbIE
HaTypasibHblE YMC/a B nNopsaKke ybbiBaHUA.

BxoaHble AaHHble
BBoAUTCA HaTypanbHOE 4YnCno.

BbiXOAHbIE AaHHbIE

BbiBEAMTE OTBET Ha 3a4ady. n=int(input("n="))
MNpumepl result=1
BXOAHblIE AaHHbIE 1=0
L while i<n:
BbIXOAHblE AAHHbIE result=result*10
97531 1+=1
result=result-1

[Tpnmep?2 _
BXOJHblE AaHHble print(result)
2 j=result
BbIXOAHbIE AAHHbIE Wh”e_ J>_=reSUIt/1 0:
99 97 ... 11 print(j)

j-=2
[Tpnmep3
BXOAHbl€ AaHHbIE
3

BbIXOAHblE AAHHbIE
999 ... 101



